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In the triangle below m£T = 90°, FT =4, and HT = 9.

H
F T

‘Which of the following is true?

a (FE)? =98 « (FE)?=99

b (FH) =97 4 (FH)’ =100
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In the triangle below mZT =90°, ET =5, and KT = 4.

T
E
K
‘Which of the following is true?
a (EK)* =40 e (ER* =44
b (EK)’ =41 4 (EKY =43
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In the triangle below m/T = 90°, DT = 8, and HT = 6.

Which of the following is true?
a. DH=~/100 c. DH= /97
b. DH= /98 d. DH= {99
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In the triangle below m/P = 907, FP = 6, and MP =3.

M

P F
Which of the following is true?

a. FM= /44 c. FM= /47
b, FM= /42 d. FM=./45




math8_02_15_examples_notes.gwb - 5/12 - Mon Sep 23 2019 15:52:42

math8_02_15_examples_notes.gwb - 6/12 - Mon Sep 23 2019 15:53:40

"

In the triangle below mZR = 90°, ER = 6, and JR = 9.

R
E
J
‘Which of the following is true?
a (ENP=115 c (EN =117
b (E)? =120 4 (EN? =118

In the triangle below mZR = 90°, FR = 6, and KR = 4.

K
R F
‘Which of the following is true?
a (FK)? =49 . (FK)?=51
b (FK)’ =50 4 (FKY =32
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In the triangle below m/T = 90°, AT=5, and IT=7.

T A
Which of the following is true?

a Al= T4 . AT=-[76
b, AI=-[75 a Al=-/T1
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In the triangle below m/U =90, DU=5, and LU= 8.

U

Which of the following is true?
a. DL= /90 c. DL=./89
b. DL= /86 d. DL=-/91
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In the triangle below m£T = 90°, FT =5, and LT =9.

L
T F
‘Which of the following are true?
2 92+52=106 4 52492 =(FT)?
v 52+92 = (FL)? e 92+52 2105
e 92457104 £ 52e0? -2
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In the triangle below m.£S = 907, BS =6, and MS =3.

M
B s
‘Which of the following are true?
a 32467 =44 o 3%+67=47
b 32465 =45 e 62+43%=(M5)?
o 62+32—(BS)? s 62432 = (BM)?
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In the triangle below m£T = 90°, AT =17, and IT = 3.

I
T A
‘Which of the following are true?
s TP+32=(IT)? 8 72+3% =(4n?
b 32+72 =58 e. 32472 =56
o 3247ios7 s 72432 —(41)?
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In the triangle below m£R = 90°, FR =6, and MR =6.

M
F R
‘Which of the following are true?
a2 62+62 = (MR)? 4 62+6%=(FR)?
b 62+6% = (FM)? e 62+65=T2
e 6246 =74 £ 62+6° =73






